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8 x 2 =
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8 = 4 =

20 = 5 =

1 X 6 =
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7 X 1 =
6 X 4 =
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9 + 3
0 x 2 =
45 + 5
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36 + 9
3 x 0 =
3 x 1 =
1 x 5 =
1 x 9 =
42 + 6

5 x 6 =
7 x 6 =
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0 + 4 =
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9 x 9 =
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7 X 6 =
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4 x 0 =
5 + 1 =
0 x 4 =
5 x 9 =
27 + 3

1 x 6 =

28 + 7
O =5 =
0 + 2 =
20 + 4
4 x 7 =
3 x 9 =
2 x 0 =
6 x 2 =
1 x 1 =
7 X 2 =
0 + 2 =
24 + 8
7 + 1
14 + 7
25 + 5
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O x 7 =
0O - 9 =
6 X 1 =

18 = 6 =

1 x 1 =
7 X 1 =

18 = 2 =
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0 x 8 =
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7 x 3 =
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3 x 7 =
0 x 8 =
3 x 6 =
45 + 9



https://zuoyeti.com/go/answer/?u=qr,1952,2
https://zuoyeti.com

S

4 + 4
1 +1

14 = 7 =

N
N
1

1
4 x 8 =
4

& R (ZuoYeTi. com)

—BAAFEREITES S &

Fl 25

©® N © © © w a »~ N
U P P O © B U1 O ©
I

X

N
(@)]
|
O

w O
X X
o
I

18 + 9
2 + 2
45 + 5
6 x 0 =
8 x 3 =
9 - 9 =
36 + 9
35 + 7
81 + 9
8 x 5 =
6 x 1 =
10 + 5
0+9

A B

42 + 7
12 = 2

A EID: 1952, AT100R%, 3% /HE7H

IF 7 %

63 + 7
7 x 7 =
1 x 2 =
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2 x 2 =
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1 x 3 =
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1 x 2 =
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3 x 2 =
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6 - 2 =
0 x 3 =
5 x 8 =
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8 + 2
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3 x 9 =
7 x 1 =
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2 = 2 =
O x 3 =

56 -+ 8 =

2 x 2 =

28 =+ 7 =
30 + 6 =

8 x 7 =

16 = 2 =

& R (ZuoYeTi. com)

—BAAFEREITES S &

Fl 25

O W O L o N
I "
o
I

o o
- -
N w
[ [

14 + 2
6 + 1
8 + 2
12 + 6
6 x 7 =

A B

w 00 O o O
X I
o
1

5 x 1 =
12 + 2
O x 8 =
0 x 1 =
21 + 7
20 + 5

A O O © b~ O B
X
O
1

w
X
o
1

A EID: 1952, AT100R%, H4F% /7R

IF 7 %

24 + 3
O x 6 =

64 =+
20 +
8 x 0 =



https://zuoyeti.com/go/answer/?u=qr,1952,4
https://zuoyeti.com

S

63 = 7 =

O x 4 =

~ O B P O
I

40 =+ 8 =
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63 + 7 = 0O+ 7 = 3+ 1= 56 + 8 =
9 x 2 = 7 X 4 = 3 x 8 = 1 x 9 =
0 x 3 = 3 X 6 = 10 + 5 = 1 x 6 =
6 x 7 = 24 + 4 = 28 + 7 = 6 x 0 =
72 + 9 = 2 + 2 = 5 x 2 = 28 + 4 =
{ + 7 = 15 + 5 = 7 X 6 = 0 x 4 =
9 x 3 = 7 x 7 = 0 + 4 = 2 x 4 =
36 + 6 = 10 + 2 = 5 x 0 = 4 + 4 =
54 + 6 = 6 x 3 = 15 + 5 = 0 x 6 =
5 x 1= 4 x 7 = 8 + 8 = 28 + 7 =
6 +1 = 8 x 0 = 3 x b = 0 + 2 =
36 + 6 = 0 + 4 = 2 x 8 = 2 + 1 =
6 x 1 = 4 x 0 = 36 + 9 = 56 + 7 =
0 x 2 = 27 + 3 = 3 x 1 = 4 + 1 =
30 + 6 = 0O +5 = 0 x5 = 2 x 1 =
0 x 3 = 54 + 9 = S5 X 6 = 32 + 4 =
1 x 1 = 12 + 2 = 6 + 6 = 3+ 1=
18 + 9 = T+ 7 = 45 + 5 = 35 = 7 =
4 x 9 = 1 x 0 = 0 x 7 = 0O +7 =
3 x 0 = 5 x 3 = 10 + 5 = 3 x 9 =
10 + 2 = 0 x 3 = 1 x 1 = 7 x 4 =
9 + 9 = 7 x 0 = 2 X = 6 + 6 =
42 + 6 = 6 x 7 = 4 x 4 = 5 x 9 =
1 +1 = 9 x 7 = 1 x = 0O +~7 =
6 x 5 = 32 + 4 = 4 x 5 = 0 x 7 =

fE AV A (ZuoYeTi. com) A ZTD, 1952, AT1008, %67 /&£7TH
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5 x 5 =
7 x 4 =
7 x 2 =
7 x 8 =
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6 x 7 =
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6 x 8 =
5 x 9 =
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4 x 5 =
1 x 9 =
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